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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all questions.

3. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. (a) Discuss the concept of Tax planning, Tax avoidance and Tax evasion, with

suitable examples. (15)
R AT, FX-IRER Y@ I Jqaa o JEURON W ITGE IaEn afed =
Fifow|

OR

(1) Tax management is essential for every assessee but tax planning is optional.
Comment and explain? (15)
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(2)

(1)

(2)

(b)

2
OR

What is agricultural income? What is the tax treatment of income which is
partially agricultural & partially non agricultural? (15)

T AU I - FuiRd @ g sawe # g = Ao dsfeas 21 o
Hfew va e ik ?

TR J T 27 W S A - IR B W AR w9 ¥ N o Al w1
¥ K- o 27

From the following information find out whether X (age 56 years) is liable
to pay income tax for the assessment year 2016-17 :

Non-agricultural income for the year ending Rs. 2,50,000

March 31, 2015

Agricultural income for the previous year ending Rs. 52,00,000
March 31, 2016

Non-Agricultural income for the assessment year ending Rs. 2,00,000
March 31, 2016 @)
Write a short note on :

(1) Tax treatment of Recognized provident fund (RPF)

(ii) Valuation of Motor car 8)

(@) Frfofea T ¥ 7 ARw & 7 X g (56 af ot ang) o= - Fufor of

2016-17 B T FEH & WA A g Reder 2

31 A, 2015 H TG AT A D forg - amw 2,50,000 T
31 W, 2016 F TG BN AN T af D e BN s 52,00,000 &
31 9, 2016 aﬁmﬁ%m&m-ﬁuﬁwa&%f&qﬂz-mﬁm 2,00,000 ®

(@) Feffas w® @R o fika:

(i) #r=gen e wiaw AfY (RPF) #1 #= IwaR
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(ii) AT =R T AR

3. (a) Incidence of tax is based upon residential status of an assesse. Comment
and explain @

(b) Write a short note on:

(i) Encashment of earned Leave

(i1) Relief u/s 89 (1) to salaried employee 3)
(%) R - AR ot fa Ry w snenRa 21 ol A vd saven i

(@) F=ffen w it ot fofk:
(i) st Fraema =1 Tadiar
(ii) Al FHTR R v 8o (1) B sieda wEd

OR

(a) Gross Total Income of S aged 50 years as computed under Income Tax Act,
for the assessment year 2016-17 is Rs. 3,00,000. Compute the tax payable
by S assuming that he has agricultural income of

(1) Nil
(i) 5,000;
(iii) 3,50,000. (7
(b) Explain the tax treatment of the following
(i) Income from growing and manufacturing of rubber.

(i) Income from growing and manufacturing coffee. 8)

(%) saa aftfa & sffam @ siafa, srwe af 2016 -17 & foe aRafera 50
T4 A JY DS AT AR N Fhel [ JE 3,00,000 T B TS AAA §Y STW
WEH aF TR Reaew A B 3aaht gt o @ v 2

(i) T=

(ii) 5,000;

PTO.
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(i) 3,50,000
(®) f=fofaa & == IR 9t =/ A
(i) = & Iewe v@ e 3 o smn

(ii) =Rt & I ¢@ ffEo @ w s

4. Mr. Ankush is offered an employment by a company in Gurgaon, with the following
two alternative packages:

Particulars Offer I (Rs.) Offer II (Rs.)
Basic Salary 800,000 9,60,000 .
D.A. 4,64,000 3,04,000
Bonus 96,000 96,000

Hostel Allowance for one child 21,600

Cost of education of a child in a 21,600

school run by employer

House Rent Allowance (rent 1,44,000 1,44,000
payable 2,40,000 p.a.)

Uniform allowance (estimated expenditure{ 10,000 10,000

on uniform Rs. 12,000)

Medical Allowance 60,000

Reimbursement of medical Bills 60,000

Besides above, the company also offers the following:

Refrigerator, TV and Fans 200,000
(cost to the company)

Computer (cost to the company) 200,000
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RN FAHT H EWA T v TN A IR T w@r Bar w2, 37 PR 9

Axforw W TR vy o &

faazor e [ () | w=na Il (=)
@ AqT 800,000 9,60,000
A e 4,64,000 3,04,000
EIE] 96,000 96,000
T = & faw sfed = 21,600
P g waifera e ¥ v = 21,600

=t Rrer AN wna

Jar faaan v (37 feuan 2,40,000 & i &) | 1,44,000 1,44,000
& wa (ad) W ST =9 12,000 ©) 10,000 10,000
R war 60,000

ARFa ol A wfdafd 60,000
& Jfakam, wFt Feffea F wew w5 @ 2

e, &f R 7@ (FT A aAFE) 200,000

TR (FFN A AE) 200,000

OR

Which is more tax effective from an employee’s point of view in each of the
alternative situations given below? Justify your answer with the help of computation

of tax:

PTO.
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(i1)

(ii)

()

V)
(Vi)

6

To take medical allowance of Rs. 1250 per month or reimbursement of
medical expenses up to Rs. 15,000 per annum.

To take house rent allowance of Rs. 20,000 per month to meet the rent
expenditure of same amount or a rent free unfurnished accommodation of
equal value, where his basic salary is Rs. 75,000 and taxable allowances are
15000 per month.

To take transport allowance of Rs. 2000 per month or the facility of a small
car which will be used for official and personal work.

To take Rs. 40,000 per month as consolidated pay or Rs. 25000 per month
as basic pay plus 2000 per month as transport allowance plus Rs. 1000 per .
month as uniform allowance and Rs. 9000 per month as house rent allowance
and Rs. 3000 as contribution to RPF of the employee.

To accumulate leave or en cash it.

To take children education allowance or reimbursement of children school
fees.

(vii) To take telephone allowance or take reimbursement of phone bills.

T FAA @t g ¥ AR @ 1 uw dwforw Rafedl A ¥ afew o Rafy W @
2?7 T D qRave F A A JIN IR N AR Rg R

(i)
(ii)

15,000 Wil o @ & Ffdrem =@ = wfagfd o wf 7@ 1250 = Rl wan om

20,000 & W% #1E & fewar-=a &l W@ S @ @ e, & A w1 JEE = oo
X T e o i g R-gafer A 31, WE S 19 39 75,000 T
? 3R = 9 Y 15000 & wfE §)

" (i) 2,000 = 9f wE F ARaET e A MRS o =g wd @ fw w@n @

T R B R g
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(iv) W 37 & w9 A 40,000 T 9 W A W TR AT AT 9T D T A 25000

T & WY IR W D w9 ¥ WiRWE 2000 T 99 961 W2 @ w9 X 1000 € WX W@
Tq e R v @ ' F 9000 T v ik SR 99 A W sl (i
(RPF) 3G aNEM & 9 ¥ 3000 T oM

(v) = =t TEHia FE a1 IE AFSFT HE

(vi) ==l o1 Rven = o el S e WA o wRef A

(vii) TR = o A B R @ Wi o

What are the tax free facilities which an employer can provide to his employees?

fRarer B S R A T W W Ew Al a-gfend @ #7

(2)

(b)

OR

Examine considerations for deciding the option regarding house rent

allowance vs rent free accommodation. (7)

Shri Rajan Gupta was employed in a factory in Manesar. He retired on
1.1.2016 after completing a service of 26 years and 5 months. He had been
getting a salary of Rs. 46,000 per month and dearness allowance of Rs.
4000 per month (forming part of retirement benefits) for last two years, His
pension has been fixed at Rs. 18000 p.m. He has the option to get 3/4" of
his pension commuted for Rs. 5,40,000. He also receives Gratuity of Rs.
800,000 (Not covered under payment of Gratuity Act. 1972). Advise whether
he should get his pension commuted or not showing tax implications in both
cases. 8)

(%) @ fre s e e e & faded F @ e el Rk § s

@ Ay faarl =1 qleer i)

PTO.
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(@) R T T AR o T Bl A PR 2 26 af Ak 5 WA A A @
F T 9IE qF 112016 T AT gY1 I e 3 aut & 46,000 T W 7@ 9T
TE 4000 T ¥R WE WEWE W (JaFgha wnll @ wwr fffe s Twn) B @
of, I T 18000 T WG W TE 81 IR ATW 3/4 WAT VI 5,40,000 T X
TIART T W FA H f3wed w31 I 800,000 T I IFA Wt W 2
(¥=1& 1 e SR, 1972 R Faia ol T8 2)1 aar diw R @
IR FHA VIR FHART TG A W HER ARY A A B 7w A w RfRard a8
T3 el

(1600)
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